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1. This model shows population changes in developed countries.

CBR=Crude Birth Rate expressed as the number of births per 1000 people

CDR=Crude Death Rate expressed as the number of deaths per 1000 people

Stages of the Demographic Transition Model:

Stage 1 (Pre-Modern): Low growth rate, high birth rates, high death rates, pre-industrial economy

Stage 2 (Urbanizing/Industrializing): Rising growth rate, declining death rate, high birth rate, early industrial economy

Stage 3 (Mature Industrial): High growth rate, declining death rate, declining birth rate, advanced industrial economy

Stage 4 (Post Industrial): Low growth rate, low birth rate, low death rate, advanced economy

Rule of 72 Worksheet

Have students predict country and world populations by applying the Rule of 72.  The rule of 72 is used to determine the amount of time it takes for 
something to double, in this case population. 

Compute as follows:












Population growth rate equals the birth rate minus death rate (expressed as a percentage).

Dividing 72 by the growth rate produces the number of years needed for population to double.
Sample for North America:  72/0.6 = 120 
Using the Rule of 72, ask students to complete the following table:
Region  

Population 2000     Growth Rate     Years to Double 
North America    
481,000,000   

0.6   

120 
Sub-Saharan Africa    611,000,000   

2.6  

 _____   
China   

1,250,000,000      

1.0 

 _____ 
India  


 1,000,000,000      

1.8   

 _____ 
World   

6,000,000,000      

1.4  

 _____ 
